
1 Adda247 | No. 1 APP for Banking & SSC Preparation 
Website: bankersadda.com | sscadda.com | store.adda247.com | Email: contact@bankersadda.com 

 

All India Mock Test for IBPS Clerk Prelims 2020 
 
Directions (1-8): Read the following passage carefully and answer the questions given below 
them. 
 
Prime Minister Narendra Modi’s call for a reimagining of urban planning and development to make cities 
and towns healthy and liveable after COVID-19 reflects the reality of decrepit infrastructure aiding the 
virus’s spread. At the Bloomberg New Economy Forum, he emphasised resetting the mindset, processes 
and practices for safe urban living, and acknowledged that governments actually do little for the working 
millions. 
In the first hundred days of the pandemic, the top 10 cities affected worldwide accounted for 15% of the 
total cases, and data for populous Indian cities later showed large spikes that radiated into smaller towns. 
Rapid transmission in Mumbai, Delhi, Bengaluru and Chennai was the inevitable outcome of densification 
and an inability to practise distancing norms. In globally recognised Dharavi, which has one of the world’s 
highest slum densities, epidemiologists attribute a seemingly low viral impact to screening and herd 
immunity. The pandemic’s full social impact, especially among the poorer quintiles, has not been 
adequately measured here or elsewhere, and as the Prime Minister said, it is only clear that the cities “are 
not as they were before”. If governments are serious about the reset moment — he likened it to a post-
World War reconstruction plan — they must resist returning to business-as-usual. 
As per the 2011 census data, India saw about 450 million migrants within the country, out of which 78 
million people moved to urban areas from rural parts. While 31% of India’s 1.3 billion people currently 
live in cities, migration from rural areas in search of jobs has strained already creaky public amenities, 
posing challenges for policy makers. Investments in urban infrastructure can help shore up Asia’s third-
largest economy which has slipped into an unprecedented recession after its Covid lockdown. To address 
the growing urbanization, Modi’s government has introduced programs to build houses for poor, improve 
infrastructure, boost public transport and provide clean drinking water. The initiatives have also brought 
investment opportunities and need for new technology. 
Good, affordable housing is the cornerstone of a sustainable and healthy city, but it also represents 
India’s weakest link. Unlike speculative housing investments, well-designed rental housing that is key to 
protecting migrant labour and other less affluent sections remains poorly funded. Mumbai is estimated to 
have added only 5% of rental housing in new residential construction (1961-2000), and that too led by 
private funding. The post-COVID-19 era, therefore, presents an opportunity to make schemes such as the 
Centre’s Affordable Rental Housing Complexes deliver at scale,  focusing on new good houses built by the 
state — on the lines of the post-war reconstruction in Europe, Japan 
and South Korea. The Ministry of Housing, which has thus far 
focused on a limited set of expensive showpiece smart cities, could 
work on this imperative with the States, digitally aggregating and 
transparently publishing data on demand and supply for each city. 
It is also an open secret that laws on air pollution, municipal solid 
waste management and water quality are hardly enforced, and 
tokenism marks the approach to urban mobility. Past scourges such 
as cholera, the plague and the global flu pandemic a century ago led 
to change — as sewerage, waste handling, social housing and health 
care that reduced disease. Governments are now challenged by the 
pandemic to show the political will to reinvent cities. 
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Q1. As per the author what are the problems being overlooked by government before covid-19? 

(a) Wider spread of major disease like cholera, the plague and the global flu pandemic mostly in slum 
areas. 

(b) Lack in Investments in education. 
(c) Failure in providing affordable housing, issue of migration. 

(d) both a & c 
(e) None of these 

 
Q2. What are the initiatives taken by government to address urbanisation as mentioned in 

passage? 
(a) Government has introduced programs to build houses for poor, improve infrastructure, boost public 

transport and provide clean drinking water.  
(b) Government started focusing on a limited set of expensive showpiece smart cities, working on this 

imperative with the States, digitally aggregating and transparently publishing data on demand and 

supply for each city. 

(c) Speculative housing investments, well-designed rental housing to protect migrant labour are the 

major steps taken by the government. 
(d) Started working on sewage, waste handling, social housing and health care that reduces disease. 

(e) All of these 
 

Q3. What does the author imply by saying Governments are now challenged by the pandemic to 
show the political will to reinvent cities? 

(A) COVID-19 gave a chance to government to accelerate the process of making cities more livable for 
people. 

(B) To create a future where a major chunk of education, healthcare, shopping, may happen online.  

(C) To manipulate people and gain votes to remain in power. 

(D) Challenges faced during covid -19 will help to build up houses for migrants, poor section of people, 

workers, to work on issues of pollution, sewage management boost public transport and provide clean 
drinking water.  

(E) The initiatives have also brought investment opportunities and need for new technology. 
(a) Only a & b 

(b) Only d  
(c) Only a, c & d 

(d) All of these 
(e) Only a, d & e 

 
Q4. Which of the following is/ are correct statements as per the context of the passage? 

(a) The top 10 cities affected worldwide accounted for 15% of the total cases, and data for populous 

Indian cities later showed large spikes that radiated into smaller towns in the first hundred days of the 
pandemic. 

(b) Mumbai is estimated to have added only 5% of rental housing in new residential construction (1961-
2000), led by private funding. 

(c) The post-COVID-19 era, presents major threats for people staying in slum areas, migrant workers. 
(d) Only a & b 

(e) All of these 
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Q5. What is the tone of the passage? 

(a) Speculative 

(b) Informative 

(c) Pedestrian 

(d) Introspective 

(e) Sarcastic 

 

Q6. Which of the following words is most similar in meaning as CORNERSTONE highlighted in the 

given passage? 

(a) Record 

(b) Crown 

(c) Structure 

(d) Foundation 

(e) Initiate 

 

Q7. Which of the following words is most opposite in meaning with DECREPIT, highlighted in the 

given passage? 

(a) Nonhuman  

(b) Feeble 

(c) Strong 

(d) Undiluted 

(e) Stressed 

 

Q8. Which of the following will be the appropriate title for the passage? 

(a) Growing need of urbanisation 

(b) India & pandemics 

(c) Reimaging of rural India 

(d) Challenges & opportunity: Post covid-19 

(e) Migration & urbanisation 

 

Directions (9-15): In the following passage there are blanks, each of which has been numbered. 

These numbers are printed below the passage and against each, five options are given. Find out 

the appropriate word which fits the blank appropriately to make a grammatically and 

contextually correct sentence. 

 

The air quality in the National Capital Region plunged back into the “severe” pollution zone and inched 

towards emergency levels on Wednesday, shrouding the region in a ______(9) of its own emissions that 

have now been ______(10) a cocktail of metrological factors: low winds, a blanket of clouds, and cold 

temperatures. 

The 24-hour air quality index in Delhi was 413 according to the 4pm bulletin by the Central Pollution 

Control Board (CPCB), and the ________ (11) of fine PM10 particles and ultra-fine PM2.5 particles were 

close breaching the emergency thresholds. The deterioration comes after a brief ______ (12) from an early 

November spell of pollution largely caused by farm fires in Punjab and Haryana. 
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Weather agency officials said the problem now is because local emissions – tailpipe gases, road dust, 

smoke from garbage burning and industrial emissions – are not being blown away by wind. It is made 

worse by cloud cover, which _______ (13) moisture and reduces the room for pollutants to lift higher into 

the sky. Delhi largely goes through several cycles of bad air days in winter, which ______ (14) only when 

the region has favourable weather conditions. After the October-end, early-November peak seen every 

year for at least the past decade, the second peak arrives sometime in December. This year, however, it 

seems to have happened ______ (15) than usual. 

 

Q9. (a) covered 

(b) Haze 

(c) Cloudy 

(d) Heat 

(e) None of these 

 

Q10. (a) cut off 

(b) boundry 

(c) pin down 

(d) trapped by 

(e) hedge away 

 

Q11. (a) application 

(b) mass 

(c) concentration 

(d) hub 

(e) congregation 

 

Q12. (a) halt 

(b) gap 

(c) delay 

(d) interval 

(e) respite 

 

Q13. (a) linger on 

(b) build up 

(c) under the weather 

(d) hindered from 

(e) drives up 

 

Q14. (a) carried  

(b) worsen 

(c) come off 

(d) relent 

(e) occurred 
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Q15. (a) sooner 
(b) artificially 
(c) frequent 
(d) directly 
(e) preferably 
 
Directions (16-20): Find out the error in each of the following sentences, if there is No error, 
answer is (e). 
 
Q16. If I was (A)/ Bill Gates, I (B)/ would be the (C)/ richest person in the world.(D)/ no error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q17. We have a (A)/ responsibility to (B)/ our community (C)/ as well as to our families.(D)/ No 
Error. (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q18. A number of (A)/ colorful glass vases (B)/ was displayed (C)/ in the store window.(D)/ No 
Error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q19. Neither the (A)/ Assistant Masters (B)/ nor the Headmaster (C)/ was present. (D)/ No error. 
(E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
 
Q20. Being a (A)/ rainy day (B)/ Vijay decided (C)/ to stay at home.(D)/ No error (E) 
(a) A 
(b) B 
(c) C 
(d) D 
(e) E 
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Directions (21-25): In each of the questions given below four words are given in bold. These four 

words may or may not be in their correct position. The sentence is then followed by options with 
the correct combination of words that should replace each other in order to make the sentence 

grammatically & contextually correct. Find the correct combination of the words that replace each 
other. If the sentence is correct as it then select option (e) as your choice. 

 
Q21. The superhero is a revenant(A) who left his grave(B) to seek killed(C) against those people who 

vengeance(D) him. 
(a) A-B  

(b) A-C  
(c) B-D 

(d) C-D  
(e) The sentence is correct 

 

Q22. The deceased(A) has a lot of contains(B) for me because it resonance(C) a few of the flowers 

favored by my bouquet(D) mother. 

(a) A-C & B-D 
(b) A-D & B-C 

(c) B-D 
(d) A-C 

(e) The sentence is correct 
 

Q23. economy(A), the unfortunately(B) is moving in a financial(C) pattern and erasing all the 
retroflex(D) gains made earlier in the year. 

(a) C-B & A-D 

(b) A-D 

(c) A-B & C-D  

(d) A-C 
(e) The sentence is correct 

 
Q24. Although the board backgrounds(A) come from different members(B), they share the 

commonality(C) of caring about their community(D). 
(a) C-D & A-B 

(b) A-B 
(c) A-D & B-C 

(d) A-C 
(e) The sentence is correct 

 

Q25. The diplomat(A) will work as his nation’s concerns(B) by supporting the consul(C) of his 
homeland while residing(D) abroad. 

(a) B-C 
(b) A-D 

(c) A-D & B-C 
(d) A-C 

(e) The sentence is correct 
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Direction (26-30): The following questions consist of a sentence. Four of the words of the 

sentences are marked in bold, which may or may not be correctly spelled. Option corresponding 

to misspelt word is your answer. If there is no misspelled word in the sentence then choose (d), 

i.e., ‘All are correct’ as your answer. 

 

Q26. Meanwhile, Kancheepuram collector Mageswari Ravikumar has announced that the water release 

from Chembarambakkam reservoir has been reduced considerably to 1,500 cusecs around 7.30 a.m. on 

Thursday as rains have resided. 

(a) Meanwhile  

(b) release  

(c) reservoir 

(d) resided 

(e) All are correct 

 

Q27. The sever cyclonic storm Nivar now lay centered over north coastal Tamil Nadu, about 50 km 

northnorthwest of Puducherry. 

(a) sever  

(b) centered  

(c) coastal 

(d) about 

(e) All are correct 

 

Q28. It concludes by appalling to the Prime Minister to live up to the promise that his government 

continuously makes -- ‘sabka saath, sabka vikas (with all, development for all)’ — with an added third 

tenet, 'sabka vishwas (the trust of all)'.  

(a) appalling  

(b) promise  

(c) continuously 

(d) tenet 

(e) All are correct 

 

Q29. As human intervention continues to threaten forests and wildlife reporters and photographers of 

The Hindu train their eye on several ecological heaven from across the State and the many perils they 

face. 

(a) intervention  

(b) train  

(c) heaven 

(d) perils 

(e) All are correct 
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Q30. The government must stop any farther expansion of thermal power plants and ports in the area 

and ensure that environmental damage caused so far is reversed. 

(a) farther  

(b) thermal  

(c) ensure 

(d) reversed 

(e) All are correct 

 

Q31. A man buys an article and markup it 30 % above its cost price. At the time of sale, he gives 10% 

discount instead of 15% due to which he earns Rs. 52 more. Find the cost price of article.  

(a) Rs. 1000 

(b) None of these 

(c) Rs. 600 

(d) Rs. 520  

(e) Rs. 800 

 

Q32. A sum of Rs 2800 becomes Rs 4816 in eight years at simple interest, then find the rate of 

interest for last four years, if the interest rate for first four years is 12% per annum? 

(a) 8 % 

(b) 10 % 

(c) 6% 

(d) 4 % 

(e) None of these 

 

Q33. A work is completed by A and B together in 15 days. With the help of C, all three (A, B & C) 

together can complete the same work in 9 days. Find in how many days, the work is completed by 

C alone? (in days) 

(a) 25  

(b) 20 

(c) 22.5 

(d) 30 

(e) 15 

 

Q34. A and B started running simultaneously towards each other and speed of A is 25% less than 

that of B. If the initial seperation between them is 4.2 km and they meet in 3 min, then what is the 

difference between their speeds? 

(a) 15 km/hr 

(b) 12 km/hr 

(c) 18 km/hr 

(d) 10 km/hr 

(e) 9 km/hr 
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Q35. Mother is 25 years elder to his son and after 7 years hence, the ratio of ages of Mother and 

his son will be 2:1 respectively. Find how many years back from present son was born? 

(a) 20 yrs 

(b) 24 yrs 

(c) 15 yrs 

(d) 18 yrs 

(e) None of these 

 

Directions (36-40): What will come in place of question mark (?) in the following series questions? 

 

Q36. 280, 295, 325, 370, 430, ? 

(a) 515 

(b) 525 

(c) 505 

(d) 490 

(e) 520 

 

Q37. 4, 2, 3, 7.5, ?, 118.125  

(a) 24.25 

(b) 28.25 

(c) 27.25 

(d) 25.25 

(e) 26.25 

 

Q38. 18, 25, 30, ?, 42, 49 

(a) 37 

(b) 35 

(c) 39 

(d) 41 

(e) 43 

 

Q39. 1, 2, 4, 8, ?, 32 

(a) 32 

(b) 24 

(c) 12 

(d) 16 

(e) 20 

 

Q40. 121, ?, 169, 196, 225, 256 

(a) 148 

(b) 144 

(c) 140 

(d) 136 

(e) 132 
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Directions (41-45): Given pie graph shows percentage distribution watches manufactured by six 

different companies in 2019. Study the graph carefully & answer the questions. 

 

 
 

Q41. What is average number of watches manufactured by A, B & C? 

(a) 500 

(b) 600 

(c) 400 

(d) 200 

(e) 300 

 

Q42. What is ratio of watches manufactured by D & C together to that by E & A together? 

(a) 5:4 

(b) 8:7 

(c) 7:8 

(d) 7:4 

(e) 5:8 

 

Q43. Watches manufactured of C are what percent more than watches manufactured of F? 

(a) 130% 

(b) 150% 

(c) 200% 

(d) 170%  

(e) 100% 

 

A
20%

B
15%

C
25%

D
10%

E
20%

F
10%

Total watches manufactured = 2000
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Q44. If in 2020, watch production of B increased by 10%, while that of watch production of D 

decreased by 10%, then find the difference between watches manufactured by B & D in 2020? 

(a) 120 

(b) 180 

(c) 100 

(d) 130 

(e) 150 

 

Q45. Find total number of watches manufactured by A, C, D & F together? 

(a) 1100 

(b) 1300 

(c) 1500 

(d) 1000 

(e) 1700 

 

Directions (46-50): Each of the following questions is provided with 2 statements i.e. Statement I 

& Statement II. You have to study them and find which statement (s) is/are necessary to answer 

the question as per the instruction set given below. 

(a) Only Statement I is sufficient 

(b) Only Statement II is sufficient 

(c) Neither Statement I nor Statement II is sufficient 

(d) Either Statement I or Statement II is sufficient 

(e) Both Statement I & Statement II together is sufficient 

 

Q46. What is speed of bus?  

Statement I: Bus can cover a distance of 200 km in 4 hours. 

Statement II: Speed of a bike is 20 kmph which is 40% of speed of bus. 

 

Q47. What is length of platform?  

Statement I: A train covers the platform in 40 sec. 

Statement II: the length of train is half of the length of platform. 

 

Q48. What is ratio of male employee to female employees in the office? 

Statement I: total employees in the office are 100. 

Statement II: Total male employees are 20% more than total female employee. 

 

Q49. What is salary of Parv? 

Statement I: Parv saves Rs. 1000 which is 10% of his salary. 

Statement II: Parve spends Rs. 4000 more than what he saves. 

 

Q50. What is present population of village? 

Statement I: the population of village last year was 2000. 

Statement II: population of village increases by 10% every year. 
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Direction (51–60): What will come in the place of question (?) mark. 

 

Q51. 𝟖√?÷ 𝟏𝟒 × 𝟑 + 𝟗 = 𝟐𝟏 

(a) 7 

(b) 49 

(c) 64 

(d) 196 

(e) None of these 

 

Q52. 20 % of 160 × 
𝟒

𝟔𝟒
 =? 

(a) 4 

(b) 3 

(c) 2 

(d) 6 

(e) 8 

 

Q53. 23 + 13 – 10 % of 200 =? 

(a) 17 

(b) 13 

(c) 12 

(d) 16 

(e) 24 

 

Q54. (12)3 + ?2 = 36 % of 5200 

(a) 8 

(b) 12 

(c) 16 

(d) 24 

(e) 20 

 

Q55. 121.09 +? = 96 % of 500 

(a) 350 

(b) 348 

(c) 342 

(d) 336 

(e) 359 

 

Q56. 38% of 550 + ? % of 700 = 601  

(a) 86 

(b) 76 

(c) 46 

(d) 66 

(e) 56 
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Q57. 
?×𝟖𝟒

𝟐𝟖𝟐 = 𝟏𝟔𝟐 

(a) 343 

(b) 35 

(c) 49 

(d) 196 

(e) 63 

 

Q58. √𝟔𝟐𝟓 ÷ √𝟏𝟔 × 6 =? % of 300  

(a) 15  

(b) 12.5 

(c) 17.5 

(d) 10 

(e) 8.5 

 

Q59. 26 × 15 + 310 – (15) ² = 25% of?  

(a) 1600 

(b) 1800 

(c) 1900 

(d) 1500 

(e) 1700 

 

Q60. 1250 ÷ 5² – 180 ÷ 6 =?  

(a) 20 

(b) 25 

(c) 22 

(d) 40 

(e) 18 

 

Q61.The ratio of milk and water in a mixture of 128 liters is 7:1 respectively. How much water 

must be added to it so that the ratio of milk and water becomes 14:5? 

(a) 24 liters 

(b) 30 liters 

(c) 16 liters 

(d) 32 liters 

(e) 28 liters 

 

Q62.The speed of the boat in still water in 15 km/hr. If the boat travels 54 km each in downstream 

and upstream in 7.5 hrs, then find the time taken by the boat to travel 48 km in upstream? 

(a) 8 hrs 

(b) 6 hrs 

(c) 3 hrs 

(d) 5 hrs 

(e) 4 hrs 
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Q63. In a 10 overs match, a team has scored runs at rate 7.5 in first 6 overs and 8.5 in next 2 over 

and scored 42 runs in last 2 over. Find overall run rate of the team in the match. 

(a) 10.40 

(b) 10.89 

(c) 10.04 

(d) 10.43 

(e) 10.23 

 

Q64. There are 5 phones cover in a bag which are red & green in color. A cover is drawn at 

Random. The probability of getting a red cover is 0.6. find green covers. 

(a) 1 

(b) 2 

(c) 3 

(d) 4 

(e) 5 

 

Q65. Jai scores 20% higher than Raj in an exam who scores 30% more than Ronit who scores 10% 

less than Ravi. What percent of marks are scored by Jai as compared to Ravi? 

(a) 117% 

(b) 140.4% 

(c) 90% 

(d) 127.8% 

(e) None of these 

 

Directions (66-70): These questions are based on the following set of numbers. 

 

558, 825, 617, 443, 836  

 

Q66. If in each number first digit is replaced by the second digit, second digit is replaced by the 

third digit and third digit is replaced by the first digit, then which number will be the second 

lowest? 

(a) 558 

(b) 443 

(c) 836 

(d) 825 

(e) 617 

 

Q67. If in each number, the first and the third digits are interchanged, and then which number will 

be the highest? 

(a) 558 

(b) 443 

(c) 836 

(d) 825 

(e) 617 
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Q68. If all the numbers are arranged in descending order, then what will be the difference 
between the second number from the left end and first number from the right end? 
(a) 208 
(b) 278 
(c) 382 
(d) 285 
(e) None of these 
 
Q69. If ‘1’ is added to all even digits in all the numbers, then in how many numbers the difference 
between the first and second digits will be less than 2? 
(a) None 
(b) One 
(c) Three  
(d) Two 
(e) None of these 
 
Q70. If in each number all the digits are arranged in ascending order within the number, then 
what will be the difference between lowest and highest number thus formed? 
(a) 391 
(b) 291 
(c) 236 
(d) 325 
(e) 217 
 
Direction (71-75): Study the following information carefully and answer the question given 
below- 
 
Eight people viz. G, H, I, J, K, L, M and N live in a building on different floors from top to bottom (such as 
ground floor is numbered as 1 and top floor is numbered as 8) but not necessarily in the same order.  
There is a gap of three floors between J and L and both of them live on odd number of floors. N lives just 
above H, who lives on an even numbered floor. I lives on the 6th floor. Only one person lives between L 
and M. J lives above I. Three persons live between K and H. 
 
Q71. Who among the following lives on ground floor? 
(a) N  
(b) J  
(c) K 
(d) M  
(e) None of these 
 
Q72. Who among the following lives immediately below L? 
(a) K  
(b) I  
(c) G 
(d) H  
(e) None of these 
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Q73. How many persons live between I and H? 

(a) One  

(b) Three  

(c) Fives 

(d) Two  

(e) None of these 

 

Q74. Who among the following lives on topmost floor? 

(a) N  

(b) J  

(c) K 

(d) M  

(e) None of these 

 

Q75. Which of the following combination is false? 

(a) J-7  

(b) L-3  

(c) G-2 

(d) H-4  

(e) N-1 

 

Directions (76-79): In these questions, relationship between different elements is shown in the 

statements. The statements are followed by conclusions. 

Give answer 

(a) If only conclusion I is true 

(b) If only conclusion II is true 

(c) If either conclusion I or II is true 

(d) If neither conclusion I nor II is true 

(e) If both conclusions I and II are true 

 

Q76. Statements: E ≤ F > C ≥ B; K > F > H 

Conclusions: I. E < K  II. K < H  

 

Q77. Statements: M > N < P ≥ B; S < B ≤ T 

Conclusions: I. P > S  II.B > S 

 

Q78. Statements: M < N > X = B; N ≤ T = O 

Conclusions: I. M > T  II.M ≤ O 

 

Q79. Statements: W < X = Y > Z; B = C ≤ X; A = Y ≥ U 

Conclusions: I. X > U  II. A ≤ Y 
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Direction (80-82): Study the following information carefully and answer the questions given 

below: 

 

Seven persons of different heights are living in a family. Ritu is taller than only Vipin. Three persons 

height is in between Shweta and Pankaj. Parag is taller than Pankaj and shorter than Shweta. Tallest 

person’s height is 180cm. Neha’s height is 159cm. Neha is taller than Raksha and shorter than Parag.  

 

Q80. If Pankaj is 28cm smaller to Neha than, what is the sum of the heights Shweta and Pankaj? 

(a) 381cm 

(b) 281cm 

(c) 311cm 

(d) 301cm 

(e) None of these 

 

Q81. How many persons are taller than Raksha? 

(a) None 

(b) One 

(c) Two 

(d) Three 

(e) More than three 

 

Q82. What may be the possible height of Parag? 

(a) 130cm 

(b) 140cm 

(c) 145cm 

(d) 160cm 

(e) 180cm 

 

Directions (83-87): Study the information carefully and answer the questions given below. 

 

A certain number of persons are sitting in a row facing north. S sits third to the right of M. Three persons 

sit between M and N. T sits second to the left of M. One person sits between N and Q who is not an 

immediate neighbor of S. O sits immediate left of T. Q sits at one of the extreme ends. Number of persons 

sit to the right of O is same as the number of persons sit to the left of Q. 

 

Q83.How many persons are sitting in the row? 

(a) Eight 

(b) Six 

(c) Five 

(d) More than eight 

(e) None of these  
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Q84. How many persons are sitting between M and Q? 
(a) Six 
(b) Three 
(c) Five 
(d) Two 
(e) Eight 
 
Q85. If ‘P’ sits immediate left of M, then what is the position of ‘O’ with respect to P?  
(a) Second to the right 
(b) Second to the left 
(c) Third to the left 
(d) Immediate right 
(e) None of these 
 
Q86. Which of the following statement is not true regarding N? 
(a) N sits second to the left of Q 
(b) S and N are immediate neighbors 
(c) N is sitting at one of the extreme ends 
(d) None of these 
(e) More than three persons sit between N and O 
 
Q87. Who among the following pairs are sitting at the extreme ends? 
(a) T, M 
(b) N, Q 
(c) T, O 
(d) O, Q 
(e) Q, T 
 
Direction (88-92): Study the following information carefully and answer the questions given 
below: 
 
Six Persons J, K, L, M, N and P have their birthdays on either 17 and 24 of the months. All are born in 
different months i.e. March, April, May, June, July and August. Only three persons have birthday on the 
17th date. No three persons have their birthdays on same date consecutively. 
J was born in March month and is not born on an even date. Three persons were born between J and the 
one who was born on an even number date. N was born immediately after P. L was not born on an even 
date. P was not born in a month that has 31 numbers of days. N was not born in the month of May. Two 
persons were born between N and the one that has birthday on 17th date. The youngest person was born 
on 24th date. M was born after K.  
 
Q88. Who among the following person is the youngest? 
(a) M 
(b) N 
(c) P 
(d) K 
(e) None of the above 
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Q89. Who among the following person was born immediately after K? 
(a) L 
(b) P 
(c) J 
(d) K 
(e) None of the above 
 
Q90. Who among the following person was born in the Month of April? 
(a) K 
(b) M 
(c) L 
(d) N 
(e) None of the above 
 
Q91. Who among the following person is the oldest? 
(a) L 
(b) J 
(c) K 
(d) N 
(e) None of the above 
 
Q92. Who among the following person was born in the month of May? 
(a) J 
(b) L 
(c) K 
(d) N 
(e) None of the above 
 
Directions (93-95): In each of the questions below is given three statements followed by two 
conclusions numbered I and II. You have to take the given statements to be true even if they seem 
to be at variance with commonly known facts. Read all the conclusions and then decide which of 
the given conclusions logically follows from the given statements disregarding commonly known 
facts. 
 
Q93. Statements:  
All Bottom are Top 
Only a few Right are Bottom. 
No Right is Left. 
Conclusions: 
I. All Bottom being left is a possibility. 
II. Some Top are not Left. 
(a) None follows  
(b) Only I follow  
(c) Only II follows  
(d) Either I or II follow 
(e) Both I and II follow  
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Q94. Statements: 

Only a few Arizona are Wisconis. 

All Wisconis are Texas. 

No Texas is Boston. 

Conclusions: 

I. All Boston being Wisconis is a possibility. 

II. Some Texas are not Boston. 

(a) None follows  

(b) Only II follows  

(c) Only I follows  

(d) Either I or II follow 

(e) Both I and II follow  

 

Q95. Statements:  

All Pan is Drink.  

No Pan is Drum. 

Only a few Hat are Drum. 

Conclusions: 

I. Some Drink are not Drum. 

II. Some Hat is definitely not Drum. 

(a) None follows  

(b) Only I follows  

(c) Only II follows  

(d) Either I or II follow 

(e) Both I and II follow  

 

Q96. In the given number “261495837” if all the odd digit is subtracted by 1 and all the even digit 

is added by 1 after that numbers are arranged in ascending order from left to right and then 

which of the following digit is fourth from the left end? 

(a) 4 

(b) 7 

(c) 3 

(d) 5 

(e) 1 

 

Directions (97-100): Study the following information carefully and answer the questions given 

below: 

 

Eight persons are sitting in a rectangular table. Four persons are sitting on the corner and four persons at 

the middle of the table. The persons sitting at the corner faces towards the center and the one who sits at 

the middle faces outside the center. There are two persons sitting between A and B. H sits immediate 

right of G. E faces the center and sits second to the left of H. E sits fourth to right of A. D sits second to the 

right of B. F and C are immediate neighbors of each other. C sits at the corner. 
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Q97. Who among the following is third to the right of the one 

who is immediate right of D? 

(a) A 

(b) F 

(c) B 

(d) E 

(e) None of these 

 

Q98.Which of the following statement/statements is/are true? 

(a) A sits immediate right of F 

(b) B sits opposite to F 

(c) D sits second to the right of F 

(d) B sits at the corner 

(e) Both (a) and (b) 

 

Q99. How many persons are sitting between H and D when counting from the left of D? 

(a) Two 

(b) One 

(c) Three 

(d) None 

(e) Four 

 

Q100. Which of the following statement/statements is/are not true? 

(a) A sits third to the right of D 

(b) F is immediate left of C 

(c) G faces outside the center 

(d) Only two persons sitting between E and G from right of E 

(e) All are true 
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